IBESTIAKER KEBEH A RSADCEDEHISE (P1) HH2EE
BiE| 9| Eo | S PI& R1 PIZtEfE | R2 PIStEfE =<1y e HaxR
A101 |TFYREBIESRIERE 0.39 0.38 (mg/L) RIS REE A RERIETRAE R
A102 BRAHERYEEEKEEAELR 40.0 60.0 (8, BEZ) (%) [2-AF)LA YRILRA—)L (BAHERYERE/ KEEEE) x 100
A103 [#8 NUJ\OXS U BEKEELELR 14.0 15.0 (%) (S H7KIRDENNIM VR #7KA2 ) / KEE#E(BX 100
A104 B (TOC) BE/KEE%ELE 13.3 16.7 (%) (S a7k EY (TOC) REY/ #a7kie) / KEE#(Ex 100
__ | A105 BEEREKEERELR 10.0 20.0 (&, BmER) (%) |ERENMUZDILEY (C HKARDULBE R EIEE/ HKEER) /KEE%MEX 100
Z;;i A106 MY EREKEEER 14.0 14.3 B, BER) (%) |FILSTL, NORSTAZEFEE) (S HKEOLZEEMERE HKIRE) / KEE4£[EX 100
MmigbiRE >, ~NS5>2-1,2-S-00IF
o A107 |BHILZ B R KR R 0.0 0.0 (E, BEE) o) ‘;;g;’;iif’j;gfi; (5 1IN ETRIE 4aPKIRER) / KB X 100
| == )
;i B A108 |HESEIERYIEEKEREE R 13.3 13.3 B, mER) (%) |00 (S MK DS BRI IR $a7KIRER) / KEE#EX 100
” A109 EFREEKEEEBEL 0.000 0.000 - 11418H max =(Xij/ GVj )
A201 |EKKEERE 182 181 (I58) BAKEEARIEES
_. | A202 |iekiekEteE (BH) EEE 5.2 5.2 7/ 100 km?) (EKIKERE (BH) BOKERTEY/BRTERKER)x100
,E;EI; A203 |BKtEREMER 52.9 41.3 (%) (SERICER UREKUENSE / BACHENEE) x 100
A204 |EFEFAKE 98.6 98.6 (%) (RS ER /MK 31) x 100
A205 |BR/KAEKERER 6.4 13.6 (%) (BF/KIE GBS AR / BF7KIBAGES) x 100
s | A301 | AKIRDKBEHFE 0 0 (1) RN BB
R A302 |MHSEIERANIBEE 40.5 50.9 (%) (RSB EERLIB K B/ FRTEKE) x 100
e e A401 [ SABME/KESR 4.6 3.9 (%) (BRBUA/KE LR/ FA/K1F8) x 100
B101 |HCFEKERE 66.6 66.6 (%) (B EREKEKE/SKEKE)*x100
B103 |tthTF/k= 20.0 20.0 (%) (M F7kigKE / GERIEVKE)x 100
B104 |fEs&FIFAR 66.0 67.0 (%) (—BE 198K E/MEE%EE 1) x 100
B105 |RAHER 70.6 78.0 (%) (—BEEABUKE/MEE&EE)x 100
B106 |&faE 93.4 85.8 (%) (— Bk E/—BRARIKE)x 100
B107 |BUKBIERZE 7.9 7.9 (km/km?) Ak B /IR /K TS
B108 |ERAMRR 33.9 35.1 (%) (AR UERER / BIER) x 100
EE | My | B109 |/ ULT A= 41.6 39.3 (%) (SR UIZ/ULTE / JULTREE) x 100
EiE | 8 | B110 kX 5.3 6.3 (%) (FFRIR/KE / FRIBKE) x 100
Bl11l |BM= 93.6 92.5 (%) (FRIEMKE / FERIFKE) x 100
B112 |BINE 91.0 90.4 (%) (FRIEIUK S/ FERIBIKE) x 100
B113 |FE/KthETEREES 0.78 0.86 (=) BUKtEhE S/ — B FIRkE
B114 |fAZKAO— ALz DEKE 314 319 (L/8-A) (—BFIfkE/BIERAKAD)x 1,000
B115 |fA/K&IPRA%K 0 0 (/) FERIAKHIBR B 2K
B116 [fakKEKEK 99.6 99.6 (%) (BRTEFK AO/FAK XA A L) x 100
B117 |¥fEstRsEfE=R 40.2 40.2 (%) (RS S 1R B - SHEMEDAEHR) x 100




BE| 2% | X9 | &5 PI& R1 PIEt&fE | R2 PIGtE1E BAfi] 25 TR
B201 |FKIZSEEIS 0.09 0.04 (#F/10 £ - f&7R) 10FERIDEIKISELE BRI / /KIS ER
B202 |SEtEHK ALOR 3.3 3.3 (%) (SRR A O /BR1EHEK AO) x 100
B203 [#a/K AO— AHZDITBERRIKE 125 138 (L/AN) (BLACtBENEE X 1/2 + B2ET/KIESE)x1,000/I/TEHEKAL
B204 |BROEHREIS 0.6 0.9 (/100 km) EMOERME /( EILER/100)
=iy | B205 ERBBROSHIS 0.6 0.0 (#4£/100 km) EREROBMAL/ (EHELER/100)
KE | B206 |#HHEWOBHRES 0.5 0.4 (/100 km) HREWOFHTE / (BRERERILR/100)
MR | B207 |IFEREWOBHES 1.3 3.0 (#4/100 km) IESKBEIRDBRMLY / GEAREIIER/100)
- B208 |#&/KEDHEHEIS 1.2 1.7 (14/1,000 %) TR EDEEITER / (faK1FE8/ 1,000)
sym B209 #a/KAO—AZHZDIRK - EKEFRE 0.00 0.00 (B¥RE) > (MK - & KRR x WK - EKXEEEK A L) / IWiEkaK AN
B210 |KEXMHIEEMOIER 3 3 ([El/ ) FRID K ENTRINEREBEIEL
2 B211 [HANIRREEE 6.1 6.1 (&/km) HAARE ) KSR
Lz B301 Eok=E1m3 HicOEEEZ 0.30 0.29 (kWh/m?) | BEF2210ERR BENERAZEDEET / FREIKE
KD B302 |He/K=1m3 HizDHEEIT LT — 2.87 2.81 (M3/m?) IIILF—HEE / FRIbKE
i =15 | B303 |EkE1m3 W0 —EMbiRE (CO,) HEHE 102 105 (g - CO,/m?) [ZEbikER (CO2) PEHE / FERIfkE] x 10°
MR | B304 |BEREEIRILF—FIRR 0.000 0.000 (%) BN 2HTROR (BEREIRILF—RBOEHERE / OB HEMRE) x 100
B305 [FkFEAELTOBMFIRAR 42.9 46.0 (%) (BIFBALE / FKRELTE) x 100
B306 |ZEiEIEMDIYAJ)LER 100.0 100.0 (%) (UBDaoILeniz@ZalEME / EZRaIEMFRLESE) x 100
Mes% | B401 |[FU51)LISIKE - HEXR 78.4 78.4 (%) [(FO51)VESEIER + MBER) / BISER] x 100
B | B402 |EIROIHXR 0.12 0.09 (%) G ERER/ERILER) %100
B501 [EEMFAFLGEIEF KGR 33.5 33.5 (%) CEEMAFEZEBR TS FKIEEREE /25K HEE%EE/) % 100
o B502 [AEEMAEIEERER 32.3 32.3 (%) (FEMRERERZ T\ B - BE - SHERBRE OOV - BS - SHERHBREOAFE) x 100
;?;; B503 [EEMAFLIBAERE 25.1 27.0 (%) (CEEMAFHZEBX TV D ERLER/ERLER)x100
B504 EIROEFHE 0.64 0.58 (%) (B SNIZERER/BIBER)x 100
B505 EBROELR 0.000 0.000 (%) (BESNI-ERER/BIBER)x100
B601 |RiEEIDEKeEhiESR 9.1 9.1 (%) (FUKRtERE D /2K iEEREES) x 100
B602 |FKitis% D= L3R 11.6 11.6 (%) (MEXRDESNIZKIEEREE /2K HEE%EES]) X 100
B602-2 |FKitis DEEBSYIME LR 35.0 35.0 (%) [(hBY - BiB%EET B IEROMRILH KRS + SBDH ERDTRL KRR/ 23E K HEREED ] x 100
= B603 |/R>TFRDMmE LR 12.8 12.8 (%) (MR RDFEEN TR > TEREE /MR ZR/R > TPEe 1) x 100
gz: - B604 |EC/AHDME(LR 37.5 43.6 (%) (MEMROESNIZE K BB EE/EKNEEHEE)x 100
B605 |BRDOMEER 11.0 11.8 (%) (MEEER/ERILER)*100
B606 E#HEROMEER 23.0 24.1 (%) (EREBERODOMEEER/EHERER)x100
%ZZ B606-2 | B#EROMERESER 30.0 31.1 (%) (EREBRODEMEESGDS D ERLER/EHERIER) X100
S(]‘;ﬁ B607 |EEfa/KiERECKEROMEER 18.6 20.5 (%) (BEEfKIEREKERO D SR E LR/ EEE/KmEUKERIER)x 100
B607-2 EEE/KERAKERDOMEESR 25.3 27.2 (%) (EBHEKIEREUKEIRD S STHREA DG 3 EIRIL R/ BB KIEREUKEISER)x 100
B608 (FEREC/KEMHEMHREK 106.5 104.9 (%) (ZEhEEER CRR T DHL/KEEHD/—BFIEKE) % 100
B609 |FEmiFEHE 40.1 40.7 (B) (PSR R SR — B R X (& (PSRRI R A — B ERR) 0S5, N5l
B610 |MArUEZEEZ 0.56 0.6 (B) FERRETEE/—BREHERE




BE| 2| X9 | &S Pl R1 PIEtE{E | R2 PIFtE1E B ] e STER
B611 |ICRfE/KHEREE 1.4 1.4 (8iFi/100 km?) IbRE7K iE e/ (GRAEHG7KE1E/100)
B612 |#a/KEREE 0.006 0.006 (&8/1,000 N) |BMEF2HIRR fa/keask/ (BRTERA/K A/ 1,000)
B613 |E&HMADIEKSY > IRBE 0.030 0.030 (m%1,000 A) |BIEF2HIRR EHARKS > O DER/($7KAO/1,000)
C101 |EZIZIEX 109.6 110.2 (%) [(E2UNS— FHETBINS) / (ERER- FETEH) 1x 100
C102 |#REUNZLER 116.3 127.3 (%) [(EZEUNZS + SN/ (SR B + B2/ E/H)]x 100
C103 |#aUXsZLEER 116.3 127.3 (%) (HoUNZS/48BIF)x 100
Cl04 REXIEEHEH 0.0 0.0 (%) [RIERIBE/ (B LUV — FFETBUNZS)]x 100
C105 [#@ABLEE (UNERHIURA D) 0.6 9.0 (%) (B2 ENTERR A S/ INZSHIUNA ) x 100
C106 [#@A&BLEE (BAKIUIAS) 32.1 36.1 (%) (BABNTERAR/EARMUNAET) %100
C107 |BEBE— ASEZDIEKINGS 105,243 96,087 (FA/A) RTINS /1B B TR B R S &
C108 |#a/KINEZR(CX I DEEHRSEDES 10.6 10.9 (%) (BEEHA 5B /H5/KINZE) x 100
C109 [#A7KINZRICH I DIEEEFBDEE 3.4 3.5 (%) (B 2R B/ H87KUNZE) x 100
C110 [#A/KINZRICH I DiRMEBE DR S 32.9 35.9 (%) CRATEENEE /487K UN2ZS) x 100
Cl1ll |farkiR#ICHd BRBHEDIEHDLLEEERTLEDNE 12.6 13.7 (%) (EHEDIZH DR BEERTE/HEKIE) x 100
Cl12 #a/KINZR(Cx T D EBEZEDEES 203.2 221.0 (%) ({BEIETE R/ HA7KINZE) x 100
e C113 |HIEEUNE 109.1 109.1 (%) (L4 8/ 447K EUT) x 100
BAFS - Cl14 |{iaEf 164.4 149.3 (A/m?3) fB7KUR s/ EERIR UK &
C115 |#a7/KIE4f 150.7 136.8 (H/m?3) [FHEA- (SRIBE+ MARCTERSNEM+ HEELE+ ENNSSRA)] / EMalke
C116 |1 mH10 m*HEDREARE 902 1,032 (M) 1 AN A 10m> 7z DRERRIE
C117 |1 mH20 m*HDRERNE 2,508 2,836 (M) 1 NN A20m Yz DRERRIE
C118 |EhtL= 372.7 244.9 (%) (RENVERE/RBEIE)* 100
C119 | HOEAIERILER 73.8 73.6 (%) [(BAS+RIRE+IUMELRR & HRIEINZS)/ BfE - BAAT]x 100
fi; C120 |ElEtt= 120.7 120.8 (%) [BIEERE/(BAE+RIRE+ ML & HRHEIRZ) ] x 100
s Cl21 |REERTENRMEINELR 55.3 55.6 (%) (2R B D= DI EEEE TS/ (N FERMEANE - RIS SR A)]x 100
- C122 |EE&EEOERR 0.14 0.12 (=) (2N — ST BURS)/[(HEBETEE + BXRETE&E)/2]
C123 |BIEEEFERMR 8.7 8.5 (m*/73F) FREUKE/ BRETEEE
C124 [HE—AZHzOBEKE 640,000 644,000 (M A)  |BEOMZEMERA ERHRBEIUKE / BREERTEI S
C125 |[B&EFERRDEIE 0.02 0.01 (14/1,000 1) SRR AR / (BI&EERAFE/1,000)
C126 |HIEUUh= 99.3 99.3 (%) (BIEMAZE F=58) x 100
C127 |#&/KELERE 12.3 10.3 (/1,000 1) RIS LEAFEL / (*a7K4F48/1,000)
C201 /KiEH:MCRE 9 2 EEUSE 2.31 2.22 (1/N) BENEVME L TV BKERITICRE T 281841 / I8
C202 |HAEBIHERSRS 5.4 2.8 (BFRE/N) (BEENINEPHMEE R RIx ZEAL) / WSS
4B - ,);M C203 |AIEBHHERSRS 0.7 1.1 (BFRE/N) (BN PEFHMEE R RIx ZEAL) / LWES
A |7 C204 |#HfiTiE =R 31.5 26.7 (%) (FtiE / 282 x 100
C205 |7KIEEFSFIIRERES 13.6 12.2 (F/N) B DACELEISZEREL | DB
wmzt| C301 MRETEEX 100.0 100.0 (%) (BFEUSKEA——8 [ KA —5—REH) x 100




BiE| 9% | X9 | BS PI& R1 PI;t&fE | R2 PIGtE(E BAfi] e S8R
. C401 |[RIREEIC K BDIBEMDIZEE 0.9 2.6 (EB/44) TREREER & DFECIERER / MK
ETE C402 |1 > —FRv MCKDIERDIEMHE 28 30 ([a1) T I R—SADEBHEE
HEr= C403 K RFEEIE 10.7 2.0 (A/1,000 A) |BREF2AHTRR R¥EL / (REBKAD/1,000)
ji‘j C501 |[EZ%EE 0.021 0.006 (A/1,000 N) | B3 F224TRR EZH AL/ (BRIEFEKAL/1,000)
| 55 C502 |\ 77> — MNERINESRS 0.02 0.01 (A/1,000 A) 72— NEIEAS [ (RIERRKAL/1,000)
23> e C504 7Kt —EX(CH T IEBERLIE 0.00 0.00 (#£/1,000 ) KB — B ZEERMEE / (187K4548/1,000)
C505 KB BEBEHISEE 0.25 0.25 (#£/1,000 ) IKEE BRI / (f67K4F48/1,000)
C506 |7KERIE(Cx I BEBERLEE 0.00 0.00 (#£/1,000 f4) KBRS E BT / (87K 4%8/1,000)




